[image: image1.png]sin =P/,




[image: image158.png]cbseﬁguess




	[image: image158.png]
	http://www.cbseguess.com/


[image: image159.png]cbseﬁguess





Sample Paper – 2011
Class – X
 Subject – Mathematics

INTRODUCTION TO TRIGONOMETRY

Trigonometric identities
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Important Questions

Q. 1.   If[image: image75.png]5/..,,find the value of (sinA + cos A) sec A



 
Q. 2.   In the adjoining figure, PQ = 24 cm, QR = 26 cm, ∠PAR =90°, PA = 6 cm and AR = 8 cm. find ∠QPR.
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Q. 3.   In the adjoining figure, AD = 4 cm, BD = 3 cm and CB = 12 cm. find cot θ
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Prove each of the following 
Q. 4.   [image: image79.png]sec*f —sec’d =tan* 6 +tan’ @




Q. 5.   [image: image81.png]ing = tan6 +sec
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Q. 6.   If [image: image83.png]x = psecH + qtanf and y = ptan 8 + gsec6 then prove that x* — y*




 

Evaluate each of the following 

Q. 7.   [image: image85.png](sin35% ) + (20555, ...) —2cos60r
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Solve each of the following equations for θ 
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Q. 13.   If [image: image97.png]sec2A = cosec (A — 42°)



 where 2A is an acute angle, find the value of A.
Without using trigonometric tables, evaluate

Q. 14.   If 7 [image: image99.png]sin® 6 + 3cos?6 = 4 show that m..li:l/‘/§




Prove each of the following identities

Q. 15.          [image: image101.png]
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Q. 24.   [image: image119.png](sin @ + cosec8)® + (cosf + secf)* =7 + tan® 6 + cot* 8
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Q. 28.   If [image: image127.png]cos @ + sin@ = /2 cos 6,



 then show that [image: image129.png]cos @ — sin@ = 2 sin 6,
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Without using trigonometric tables, evaluate each of the following
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Prove each of the following

Q. 38.   [image: image149.png](1+ cotA — cosec A)(1+ tanA + secA) =2




Q. 39.   [image: image151.png]sinf (1 + tanf) + cosf (1 + cot) = secf + cosec B





Answers

Q. 1.   17/12

Q. 2.   90°
Q. 3.   12/5

Q. 7.   1

Q. 8.   0

Q. 9.   1

Q. 10.   [image: image153.png]1/V/3




Q. 11.   60°
Q. 12.   30°
Q. 13.   44°
Q. 32.   [image: image155.png]2—1/\/3




Q. 33.   5
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Q. 35.   1

Q. 36.   2/3
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